
Spiel 1 Spiel 2 Gesamt

Spiel 135 15:18 M 01 HAIDER Silke 32 + 28 = 60

JURKOWITSCH Marcel 47 + 50 = 97 #

79 + 78 = 157

M 02 JURKOWITSCH Gertraud 40 + 47 = 87

JURKOWITSCH Thomas 29 + 33 = 62 #

69 + 80 = 149

Spiel 136 15:31 M 03 GRUBER Augustine 40 + 45 = 85 O #

GRUBER Helmut 48 + 52 = 100 O O O #

88 + 97 = 185

M 04 KATZENGRUBER Viktoria 32 + 33 = 65 #

KATZENGRUBER Fritz 32 + 40 = 72

64 + 73 = 137

Spiel 137 15:44 M 05 PRINZ Elfriede 32 + 28 = 60

PRINZ Josef 42 + 53 = 95 #

74 + 81 = 155

M 01 HAIDER Silke 33 + 32 = 65 #

JURKOWITSCH Marcel 50 + 51 = 101 #

83 + 83 = 166

Spiel 138 16:00 M 02 JURKOWITSCH Gertraud 44 + 43 = 87 #

JURKOWITSCH Thomas 30 + 41 = 71 #

74 + 84 = 158

M 03 GRUBER Augustine 43 + 34 = 77 O

GRUBER Helmut 39 + 50 = 89 O #

82 + 84 = 166

Spiel 139 16:13 M 04 KATZENGRUBER Viktoria 22 + 29 = 51 O

KATZENGRUBER Fritz 46 + 37 = 83

68 + 66 = 134

M 05 PRINZ Elfriede 24 + 35 = 59

PRINZ Josef 46 + 43 = 89

70 + 78 = 148

Spiel 140 16:31 M 01 HAIDER Silke 36 + 37 = 73

JURKOWITSCH Marcel 47 + 52 = 99 # # # #

83 + 89 = 172

M 03 GRUBER Augustine 44 + 49 = 93

GRUBER Helmut 37 + 47 = 84 #

81 + 96 = 177



Spiel 141 16:44 M 02 JURKOWITSCH Gertraud 46 + 52 = 98 O #

JURKOWITSCH Thomas 29 + 42 = 71 O O

75 + 94 = 169

M 04 KATZENGRUBER Viktoria 23 + 28 = 51

KATZENGRUBER Fritz 43 + 39 = 82 O

66 + 67 = 133

Spiel 142 16:58 M 03 GRUBER Augustine 49 + 43 = 92 # O

GRUBER Helmut 44 + 41 = 85

93 + 84 = 177

M 05 PRINZ Elfriede 29 + 32 = 61

PRINZ Josef 28 + 39 = 67

57 + 71 = 128

Spiel 143 17:12 M 04 KATZENGRUBER Viktoria 31 + 26 = 57

KATZENGRUBER Fritz 48 + 49 = 97 O O #

79 + 75 = 154

M 01 HAIDER Silke 39 + 28 = 67 #

JURKOWITSCH Marcel 51 + 45 = 96 #

90 + 73 = 163

Spiel 144 17:26 M 05 PRINZ Elfriede 34 + 36 = 70

PRINZ Josef 47 + 36 = 83

81 + 72 = 153

M 02 JURKOWITSCH Gertraud 34 + 46 = 80

JURKOWITSCH Thomas 29 + 36 = 65 O

63 + 82 = 145


